—— Nube —— Ref —— Ajuste

Temperatura
50 A
v
o)
>
=
© 40 T
2
o
2 30
€
(]
|_
20 A
T T T T T T T
06:00 00:00 18:00 12:00 06:00 00:00 18:00
30-Dec 31-Dec 31-Dec 0l-Jan 02-Jan 03-Jan 03-Jan
Humedad
80 A i
l ‘
3 "
> 604 |\
= |
heo} I
©
3
c 40 +
>
T
20 A
T T T T T T T
06:00 00:00 18:00 12:00 06:00 00:00 18:00
30-Dec 31-Dec 31-Dec 01l-Jan 02-Jan 03-Jan 03-Jan
Ozono
800
- 60
8 600 A -
S - 40 &
= o
o | c
S 400 9
S - 20 ©
200 +
-0
T T T T T T T
06:00 00:00 18:00 12:00 06:00 00:00 18:00
30-Dec 31-Dec 31-Dec 01-Jan 02-Jan 03-Jan 03-Jan
Monoxido Carbono
800 + 3
)
o!
z
700 +
2 -2
o
o]
S 600 -
o
3 -1
S 500
5 \ NWM
= A ‘)\W B O
400 ] T T T T T T T
06:00 00:00 18:00 12:00 06:00 00:00 18:00
30-Dec 31-Dec 31-Dec 01-Jan 02-Jan 03-Jan 03-Jan
Dioxido Nitrogeno
o - 30
Q ‘@
2 300 25 @
o c
5 | g
& 250 / 20 8
-‘g I s ’ ‘\ ‘ Vi 15 g
= AW Py ¥ | T\l [
g oo | e WA L |8
= \ Y X
X i | ﬂ - 10 o
A | [a)]
150 A L5
T T T T T T T
06:00 00:00 18:00 12:00 06:00 00:00 18:00
30-Dec 31-Dec 31-Dec 0l-Jan 02-Jan 03-Jan 03-Jan
PM2.5 Count
200 +
) - 60
o Y—
150 o o
= z
€ S
3 - 40 S
S, 100 9
n
m -
o S
& 50 L 20 &

T T T T T T T
06:00 00:00 18:00 12:00 06:00 00:00 18:00
30-Dec 31-Dec 31-Dec 01l-Jan 02-Jan 03-Jan 03-Jan

Monoxido Carbono Ref

Temperatura Ref

Estacion 349

30.0 A

27.5 A

25.0 A

22.5 A

20.0 A

35 40 45 50
Temperatura Nube

Humedad Ref

30 40 50 60 70
Humedad Nube

40

Ozono Ref

20 +

S v ca@me

T
400
Ozono Nube

T
200 600 800

1.25 A

1.00 A

0.75 A

0.50 A

0.25 A

0.00q -

600 700 800

Monoxido Carbono Nube

500

— N N w
(S, o U o
1 1 1 1

Dioxido Nitrogeno Ref
=
o
1

(%)}
I

T T T
200 250 300

Dioxido Nitrogeno Nube

T
150

()]
o
1

PM2.5_Count Ref
N
o
1

N
o
1

T T T
100 150 200

PM2.5_Count Nube



